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Ασκηση 1. Βρείτε τα παρακάτω όρια:

α) limx→π/2
2x−π
cosx

β) limx→π/2
1−sinx
1+cos 2x

γ) limx→0
2x

x+7
√
x

δ) limx→0
x(cosx−1)
sinx−x

ε) limx→0+

(
1
x −

1√
x

)
στ) limx→∞(x−

√
x2 + x)

ζ) limx→∞(12)
x

η) limx→0+ x lnx

θ) limx→0+(sinx)
x

ι) limx→∞ x2e−x

Ασκηση 2. Υπολογίστε τα παρακάτω αόριστα ολοκληρώματα:

α)
∫
x
√
2x2 − 1 dx .

β)
∫
x(x2 + 1)2/3 dx .

γ)
∫
x(x2 + 8)100 dx .

δ)
∫

4x√
x2+1

dx .

ε)
∫
(x+ 1)

√
x2 + 2x dx .

στ)
∫
cos2 5x sin 5x dx .

ζ)
∫

cosx√
1+sinx

dx .

η)
∫
x4(6− x5)3 dx .

θ)
∫

1√
x(1+

√
x)2

dx .

ι)
∫

1
y2−2y+1

dx .

κ)
∫ (1+

√
x)3√
x

dx .

λ)
∫

1
x2

cos2(1/x) dx .

μ)
∫

2 cosx
(1+sinx)4

dx .
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